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משוואות  טריגונומטריות

· נפתור  את  המשוואות  בעזרת  החוק:  tanx = tan(  (  x = ( + 1800k
·  פונקציית  הטנגנס  מוגדרת  לכל  x  x ( 900 + 1800k 
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משוואות:

1. tanx = tan700  (    x = ____ + 1800k
                               
2. tan(2x + 170) = 0  (  2x + 170 = ____ k
2x =  -___ + ______                                (   x = _______ + ______    ( 
                                                                                     x = _______ + ____      

· תכונה  של  הטנגנס:  -tan( = tan(-()
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tanx =- tan700  (       tan x = _______    (      x = ______ + ______    (
                                                                    x = ______ + ______                
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tan2x = ⅓ .                          
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x2 = -____ + ___                                                             x1 = _____ + _____    
                                                                                                 x2 = ______ + ____  
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tan2x = 3
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x2 = -____ + ___                                                             x1 = _____ + _____    
                                                                                                  x2 = ______ + ____  

6. tan2x = 1
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x2 = -____ + ___                                                             x1 = _____ + _____    
                                                                                                 x2 = ______ + ____  

תשובות:  1.  x = 700 + 1800k     2.    x = 81.50 + 900k     3. x = 1100 + 1800k
4.    x1 = 300 + 1800k,  x2 = 1500 + 1800k      5. x1 = 600 + 1800k, 
 x2 = 1200 + 1800k      6.  x1 = 450 + 1800k,  x2 = 1350 + 1800k       
עבודה  נעימה    
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tanx = 0   (  x = 1800k
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